«10° AFy/Fin (i=12,34)

— F},, = 433.56 MHz
2r — F}, = 501.18 MHz
—_— Fy, = 897.37 MHz
—_—F), = 2.41635 GHz
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'6_ AFln/Fln = 0411—'2 + ﬂlT -+ (51 with a1 = 00342,ﬂ1 = —403914, 51 = 911.0184
AFQH/FQH = /BQT + (52 with ﬁg == —3151, 52 = 929.545

AFy, /Py, = 5T + 65 with 83 = —52.19, 65 = 1301.75 N
-8H AFy/Fin = asT? + BT + 8, with ay = —0.101, B4 = —18.857, 6, = 486.787
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AFy, = F — Fiy (i—123.4)
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_Fln = 433.56 MHZ, AFln = Fln(a1T2 + ﬁlT + 51)
15| —— Py, = 501.18 MHz, AFy, = Fy (6T + 62)
_an = 897.37 MHZ, Aan == an(ﬂgT + 53)
_F4n = 2.41635 GHZ, AF4D = F4n((1<4T2 + ﬂ4T + (54)
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